[GpS0g8:0p§305

(%)

Ji

L

643 (Q§0p§0Rticaco(od:) & Jo-0 - Jo R qodes,
(Q$GQI3§$3@OSGOT?GDG@3.DG§

5> [edTso8 B3 500000 900000
) |edToy B3 90000 90000
2 |epSeco B3 Bgooo Qo000
5 |c88 B3 Beooo Bqooo
9 |33 (e3p) B 55000 58000
Odf¢ (opqéegod)
G |03 o/§ JeBoooo
q |00&:¢ o/0§ Q90000
® |0o3egal o/ JJeBso0
@ |e0000050 6/n§
%0 (303883 o/ 563 Jooo 5900 J00
00 [dcgdi(gy o/ 0gqP000 JoJogoo
o) |0cgd:§ o/ JoBJ500 1159900
3R [§0Bod0 o/0% 1J55500 JJeBgeo
05 (095 o/ JORERO0 JoqJeeo
59 [egocsed o/ QoBe00 QJ0qo0
o8 |apeoa:ofgieg:(o: o/} R00EE00 2053600
29 |g§oxd/g o/ 2995900 2085q00
00 |0[c3: o/} 549900 539700
oo:c%saooéof?: (UPG]_E:G;?’.)E)
og |(303p8% 80002 ogoo R000
Jo |(©30388(g (231929%) 80002 20900
Jo [0305%35(g (9:0) 8o00o 0go00 °qo00
1) | 80030 Booo
5 |ss 8oooo 50000
J5 [ca0d9p3(0d:4) 8000 9000 gooo
J9 |caode(€(giogds) 80002 Joooo
0203288
16 |o@oss 8003 56000
1q |56 80030 56000
o [oon8ss8 82030 9980
J@ [edlcon (oudeq) o6 2560
20 [ealcon (epliaqp) o6 256¢)




q§e§CR§op33Ee 9-0 - Jo R ¢4, O3 §:5¢

02:8650088:4gpseN (00682000) oS azcolssiap:
°T °§qp° ° QJ"JL’?'QI °

o . T
@qjsap6pd eq23%5¢ . Qi fs: (030)
) lge
Odje$ (pa¢egot)
5|0050 82000 GOQ
J 605:{; 8200 RGO
2[00Begdl 82000 2990
G|ec020050 8202 =
9003882 82000 GG JeJo
B|oog§:(yy 8202 R0 Q900
Q|Ocp§:§ 82000 2900 Bqo
09308050 8200 266y 2990
6[ogd 8000 R0 R09
20 [0powo2d(gled:(o3e 8202 5@29) G@Qo
22|g§0208/(go 820 Jo8q 2069
2[0[03: 82000 Beoo Qoe0
09|92:60050 82000 Booo Gogs)
oG |0pco:0(gé: 8202 Bo g 6 joo
o8)|elgoésad 82000 20qo 090
N
o6 [gSo00:905 82000 Qoo
2Q @6‘3339:(:\)08@:) 82000 GO0
26 |[§82002 (c005204)) 82000 G000
o@ @ogwo:(morgsqp) 82000 Q000
J0](6E:(3 (008)g05 82000 Q000
P @5:@]((\)0’5@:) 82000 500
114|885 (c005208) 82000 2Jo0
R @5:@] (C\)OSGQ_P) 82000 2300
g
(358801
1503109059105 8202 00500
J9|eaoodsons- 82000 26000
J8[emmaodion:-o 8200 oBooo
Jq|eseoodioni-g 82000 a6s00
Jo|emeaosion:-¢ 82020 2Q000
cq68:
N3 @p% (128000) AC 82000 Booo [CLelele)
20]08:q) (208) AC 82000 9000 @000
fote} fé:c;oo:)é(g(g%) 82000 - -
2J|o€(glogd: (208) 82000 o000
R @5)0 (9):»03 82000 felelelele} 26000
0§58
35 |6e§0p5:38:9Eand (208) 82000 2200 200
Q9 e.%(‘qé:ag:sgwo: (208) 82000 2300 J9oo
33'30{1):
JB|o303: AL 8oox -
2q|w3B:0K 82000 =
0 Lf)o%:Sl 82000 =
J@|dB: 52 80205 -




